

















PART —-B

Answer Q. No.6 and any two from the rest.

I Aa)

(b)

2. (a)

(b)

Explain the terms : prime cost, factory cost,
total cost and selling price. Show the
relationship between various components of
cost with the help of a block diagram.
34+2=5

A factory is producing 1000 high tensile
fasteners per hour on a machine. The material
cost 1S Rs. 375, labour cost is Rs. 245 and
direct expense is Rs. 80. The factory on cost
is 150 percent of the total labour cost and
office on cost is 30 percent of the factory
cost. If the selling price of cach fastener is
Rs. 1.30, calculate whether there is loss or
gain and by what amount ? 10

Give the name of various methods of
calculating depreciation and explain any one
of them. 2t3-5

A lathe is purchased for Rs. 8,00,000 and the
assumed useful life is 10 years and scrap
value Rs. 80,000. If the depreciation is
charged by Diminishing Balance method,
calculate the percentage by which value of
the lathe is reducing every year and
depreciation fund after 2 years. 10
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- Fig. 2
(All dimensions are in mm)

5. 4 (four) numbers of 40 mm thick mild steel plates
of size 50 cm x 50 cm are to be welded as shown
in figure 3 by gas welding to form a plate of
100 cm x 100 cm. Find the cost of material to
fabricate the plate by assuming the following

data : | 15
(i) Welding is to be done from both sides
(ii) Filler metal lost during welding = 20%
(iii) Filler rod diameter =3 mm

(iv) Cost of filler rod =Rs. 15/kg

(v) Density of filler material (M.S.) = 7.87 gms/
cC

(vi) Welding time/m of weld = 16 minutes
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